
30.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/10/ff/05.01/fp10076­05&header=false&print=true 1/4

  

Пользователь:  ya.alekhin  |  Contact Us

Каталог деталей ­ Сведения о варианте   

Электронный каталог деталей ­ описание данного варианта

Доп.
устройство Группа Рисунок Карта Дата

FP10076­05 05.01 fp104ga FF 17­AUG­01

Двигатели G855, G855 CM558, GTA855 CM558 (CM2358) G101, N14 CELECT, N14 CELECT PLUS, N14
MECHANICAL, QSN14 CM876 N103, QSN14 CM876 N105, QSNT14 CM876 N102

МАЛЫЙ | СРЕДНИЙ | БОЛЬШОЙ

Cart Ref No Part Number Part Description Required Remarks

View My Cart

    FP10076­05 Топливный насос CELECT   Celect fuel pump....(More)

          Non­pump mounted filter with

          pump cooling drain line.

www.tk
sm

as
h.

ru

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('fp104ga','/rtgraphics/english/parts/fp/1/fp104ga_sm.png');
javascript:swap_img('fp104ga','/rtgraphics/english/parts/fp/1/fp104ga_md.png');
javascript:swap_img('fp104ga','/rtgraphics/english/parts/fp/1/fp104ga_lg.png');


30.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/10/ff/05.01/fp10076­05&header=false&print=true 2/4

  BM76340 Fuel Pump Damper 1  

1       100099 Rectangular Ring Seal 1  

2       139988 Rectangular Ring Seal 1  

3       153336 Fuel Pump Damper Body 1  

4       153338 Fuel Pump Damper Cover 1  

5       160514 Plain Washer 1 1 11/16 in.

6       202897 Fuel Pump Damper Diaphragm 1  

7       3017051 Captive Washer Cap Screw 2 1/4 ­ 20 X 1 1/8 in.

8 70704 Plain Washer 2 1/4 in.

9 151900 Rectangular Ring Seal 1  

10 153346 Socket Head Cap Screw 2 1/4 ­ 20 X 4 in.

11 181466 Lock Washer 2 1/4 in.

    3085405 Топливный насос    

12       S 2286 Drive Screw 2 3/16 in.

13       70700 Compression Spring 1  

14       100129 Socket Head Cap Screw 6 1/4 ­ 20 x 3 inch

15       105375 Паспортная табличка 1  

16       129768 Valve Spring 1  

17       129839 Shut­Off Valve Shield 1  

18       129888 Rectangular Ring Seal 1  

19       146483 Filter Screen 1  

20       196057 Valve Disc 1  

21       3014575 Fuel Pump Filter Cap 1  

22       3021123 O­Ring Seal 1  

23       3033742 Threaded Plug 1  

24           3034412 O­Ring Seal 1  

25       3034451 Actuator Housing 1  

26       3041572 Jaw Coupling Hub 1  

27       3042619 Coupling Nipple 1  

28           3037537 O­Ring Seal 1  

29       3054608 Solenoid 1  

30       3056009 Actuator Disc 1  

www.tk
sm

as
h.

ru



30.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/10/ff/05.01/fp10076­05&header=false&print=true 3/4

31       3056416 Threaded Plug 4 5/16 ­ 24 UNF

32           3056415 O­Ring Seal 4  

33       3065944 Captive Washer Cap Screw 4 #10 ­ 24 X 1 Inch.

34       3068768 Retaining Ring 1  

           

        3085404 Gear Fuel Pump 1  

35           64816 A Pin Dowel 2  

36           110855 Fuel Pump Gasket 1  

11           181466 Lock Washer 4 1/4 in.

            3019617 Gear And Shaft 1  

37               119364 Fuel Pumping Gear 1  

38               175865 Fuel Pump Shaft 1  

39           3033719 Ring Dowel 1  

40           3033740 Check Valve 1  

24               3034412 O­Ring Seal 1  

41           3085614 Compression Spring 1  

42           3085613 Pressure Regulator Plunger 1  

43           3085615 Retaining Ring 1  

            3068889 Gear Fuel Pump 1  

8               70704 Plain Washer 2 1/4 in.

14               100129 Socket Head Cap Screw 2 1/4 ­ 20 x 3 inch

  44               3033714 Fuel Pump Gear Housing 1  

45               3033724 Втулка 2  

46           3068770 Fuel Pump Gear Cover 1  

                3068762 Fuel Pump Gear Cover 1  

            3068891 Gear And Shaft 1  

37               119364 Fuel Pumping Gear 1  

47               3068763 Fuel Pump Drive Shaft 1  

        3803493 Fuel Pump Support 1  

48           128807 Retaining Ring 1  

49           3080837 Fuel Pump Gasket 1  

www.tk
sm

as
h.

ru



30.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/10/ff/05.01/fp10076­05&header=false&print=true 4/4

50           3074317 Seal Spacer 1  

51           3074316 Seal Spacer 1  

52           3075338 Fuel Pump Support 1  

            3803477 Seal Kit 1  

53               3045846 Oil Seal 1  

  54               3071643 Oil Seal 1  

© 2017 Cummins Inc., Box 3005, Columbus, IN 47202­3005 U.S.A. 
Условия использования и отказа от ответственности  |  Рекомендуемые требования к системе 

Need Assistance? Please click on the Contact Us button in the top right corner of any page.

www.tk
sm

as
h.

ru

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

